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Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any five questions: 2x5=10
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a)  What is the shape of LM Curve?
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b)  What is the relation between rate of interest

and investment?
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c) What are the components of aggregate

demand?
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d) Whatis saving?
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e) What is Investment Multiplier?
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What is the condition of equilibrium in money

market?
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What do you mean by full inflation?
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Write down the relation between Average
Propensity to Consume (APC) and Average
Propensity to Save (APS).
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2. Answer any two questions: 5x2=10
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d)
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Explain the term 'Inflationary Gap'.
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Explain the term 'Liquidity Trap'.
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How do you derive IS curve?
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Write down the difference between demand-

pull inflation and cost-push inflation.
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e)  What causes the IS curve to shift to the right?
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3.  Answer any one question: 10x1=10
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Explain the IS-LM model with diagram and
show how the equilibrium national income and

interest rate are determined.
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Describe the effects of inflation.
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Explain the multiplier effect of increase in
government expenditure with AS-AD model

assuming constant price level.
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